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Intermediate Part-II , Class 12" (1%A 424-1V)
OBJECTIVE
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GROUP: I
PAPER: II
Marks: 20

You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting

or filling of two or more circles will result in zero mark in that question.

Differential of v is
1 2 1 -1

A) ——=dx ——dx C dx D) —=dx
(A) g ®) T © = D) T

- Y
If a=b then equation ?1&3—2— =] represent _
(A) Ellipse . (B) Circle (C) Parabola (D) Hyperbola

]
Degree of differential equation 9_32: + L0 3x=0is o
dx® dx

A0 | (B)2 ©1 0)
Ed;(sm Inx)=7 o

ef-e™ e +e” e
= ®) ©) z@o D) &+ ¢
Magnitude of a vector v=—i+j is
(A)a B) V2 V2 D) V3
If dot product of two non-zero vectorsfs z n vectors will be 2
(A) perpendicular (B) parallel \ (C) collinear (D) all of these
Length of latus ractum of para is
A)2a L D) é
Every homogeneo ax¥+ 2hxy + by” = 0 represent two real lines through origin if
(A) h2-ab<0 (B) }¥ —ab>0 (C) h? =ab (D) both (B) and (C)
If o is constantthen [cote dyis
(A) Siﬁ B) —Sina +c¢ (C) xSina + ¢ (D) yeota + ¢
% osx , then /’LE] is

2
1
A)-1 B)1 €0 @5
S
LimX—2 /=9
Xx-—ra X-—
(A) 3a° (B) a® (€)0 (D) un-defined
Derivauve of Jx at x=ais
#1 1 1

AY — B) ~—p= C) —= (D) 2a
W' ®) - © 57 (D)
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13- Iﬁ dx is equal to

== g
2

(A) In (fnx) + ® L (C)fnx + ¢ ® e
14-  Slope intercept form of a line is

(A)y=mx+c (B)L%:l (©) x=0 D) y=0

a

15- The function f(x)= 2 ;':X is not continuous at

(A) x=3 (B) x=0 (C)xz% ©) x=1
16- %[g v wlis formula to calculate

(A) area of triangle AB) volume of parallelpi

(C) volume of tetrahedron (D) area of parall
17- (2, 1) is solution of in-equality

(A) 2x+y>5 (B) x-2y>1 (9] 3x-5y<o (D) 2x+y<5

18- Eccentricity of hyperbola is

o
(A)e<l1 w o [Bre=0 % M)e>1
19- i[—g-(l?)] is equal to . &
1 g'(x) ‘.’ =Il -g'(x)
A C) —— D
B Gr i ?%\ © oot ®) TP
i 0

20-  Distance of point (CosAx rigin is
(A)9 ©)3 )1

: O
‘Q’b
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MATHEMATICS Intermediate Part-IT, Class 12" (1¥A 424)

Time: 2:30 hours

SUBJECTIVE (5[] >4

Note: Section I is compulsory. Attempt any three (3) questions from Section IL

SECTION I

2. Write short answers to any EIGHT questions:

1=

ii-

1ii-

iv-

vi-
vii-
viii-

Ix-

3. Write short answers to any EIGHT que

vi-

vii-

viii-

X=-

Xl-

xii-

Define rational function. Give one example also.

Find gof(x) , when f(x)=+v/x+1 g,{x)-—;L2 s X0
' x

Lvaluate Lim €650
020 0

e . g x+2 , x=g-1
Find ‘¢’ so that Lim (x) exists, when f(x) =
x-3—I c+2 , x>-1

Differentiate (x*+5)(x* + 7) W.r.L X.
Find derivative of Tan’ Sec?0 w.r.1 0.
Find &, if y= smh"(iJ
dx 2
Define critical value and critical point of function f.

X

Differentiate Cot™ (—] w.r.t X, . Q.
a
: ?

; T % +1
Find derivative of xz W.r.t X, &
x° -3
State product rule for derivative of two funggio
Differentiate Sin’x w.r.t Cos*x . \

§.

Find 8y if y=x*—1and x ch T 03.02

{ 2) dx
4 X)
n/6
te [xcosxdx
0
Solve the differential equation Siny Cosec x :_y =y
X

Find the distance and midpoint of line joining A(~8 , 3) and B(2 , -1).
Find an equation of line with x-intercept:—9 and slope:—4

Transform the equation 5x —12y+39 =0 into slope intercept form.

GROUP: 11
PAPER: II

Marks: 80
2x8=16)
2Zx8=16)

Determine the valuc of P such that the lines 2x -3y -1=0 , 3x~y-5=0and 3x+Py+8=0

meet at a point.
Find the angle between the lines represented by x* —xy-—6y?* =0
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4. Write short answers to any NINE questions: 2x9=18)

i- Define feasible region.
ii- Graph the feasible region of inequality 3x+2y>6 , x20 , y20
iii- Write an equation of circle with centre (5 ,-2) and radius 4.
iv- Write down equation of tangent to x* +y” =25 at (4, 3)
v- Find the focus and vertex of parabola y* =8x
vi- Write equation of the ellipse whose foci (+3,0) and minor axis of length 10.
vii- Find the foci and eccentricity of :—2~~)§ =1
viii- Find the length oftangent drawn from point (=5,4) to the circle x24y? - 2x43y-~26=0
i« Find a unit vector in the same direction of the vector v:= [3,-4]
X-  Write the direction cosine of vector v = i Py
Xi~ Find a scalar ‘o so that vectors 27 + o+ sk and 37 + j-+ak are perpendicular.
Xii- If a=4f +3j+k and b=2i - j+2k, find |axb| _
xiii- A force F=4i -3k passes through A(2,-2,5). Find its moment about 0

SECTIONII
5- (a) Evaluate: Lim]—“—mip—El o 5

80 1—cosq0 Q.
(b) Differentiate : Sec"rt )4.2 +h }\ir.r.t s @ 5

x“ -1

2 o
6- (a) If y=e*Sinx;show that Y 9 oy
v dx* d

(b) Evaluate : [Cosec® x dx

/4 Qinx — Q
7- (a) Evaluate: £Smx l : 5

52

(b) Graph m% ion of the following system of linear inequalities and find the corner 5
12

- points
. +
g ﬁ , y20
n

8- equation of the circle passing through the points A(1 , 2) and B(1 , -2) and touching S
eline x+2y+5=0
(b) Use vectors, to prove that the diagonals of a parallelogram bisect each other. 5
9- (a) Find the equation of perpendicular bisector of a segment joining the points A3, 5) 5
and B(9, 8).

(b) Find the equation of parabola with focus (=3 , 1) and directrix x = 3. 5
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